FT600TA1BK, and FT900TA1BK ASSEMBLY 1
“Read And Save These Instructions”

OO0 00V OOV VOOV D

OOOOOOOOOO/@ @OOOODOOODDOOO

)

IN

FT600HA1BK, FTO900HA1BK,

ASSEMBLY INSTRUCTIONS

. ASSEMBLE SUPPORT BRACKET TO REAR COMBINATION
RAIL AT DESIRED LOCATION USING 10-32 HARDWARE.

PART #

DESCRIPTION

FAN TRAY ASSEMBLY (1)

SUPPORT BRACKET (2)

EXTENSION BRACKET (2)

=

10-32 SCREW (8) NOT SUPPLIED

N

10 -32 CLIP NUT (8) NOT
SUPPLIED

6-32 SCREW (8)

#6 STAR LOCK WASHER (8)

#6 FLAT WASHER (4)

2. MEASURE THE DISTANCE FROM FRONT FLANGE OF FRONT
COMBINATION RAIL TO REAR FLANGE ON REAR
COMBINATION RAIL . SEE MEASUREMENT DETAIL.

3. ASSEMBLE EXTENSION BRACKET TO FAN TRAY USING
MEASUREMENT TAKEN AND SECURE USING #6 SCREW,
AND STAR WASHER AS SHOWN.

. MOUNT FAN TRAY( WITH EXTENSION BRACKETS
SECURED) TO FRONT COMBINATION RAIL BY SLIDING
EXTENSION BRACKETS INTO THE SUPPORT BRACKETS AT
REAR.

5. SECURE FAN TRAY TO FRONT COMBINATION RAIL USING

10-32 HARDWARE.

6. SECURE EXTENSION BRACKET TO SUPPORT BRACKET
USING #6 SCREW, STAR WASHER AND FLAT WASHER .
MOUNT THRU SUPPORT BRACKET INTO ONE OR TWO PEM
NUTS SHOWING THRU SLOT ON SUPPORT BRACKET .

. CONNECT POWER CORD AND PLUG INTO A UL/CSA
COMPLIANT OUTLET.

@GP 0 ooococooovooo
~

VOOV OO

SEEEEREEEEER X

BEEEEREEEEEEEEEEEEE EEEE T EEEE S

OO0OC OO0 O0OCOOCO OO0 0O OO

[=]

\ COMBINATION
RAILS ORDER

SEPARATELY

0000000 O

NOTE:

ASSEMBLY SHOWN IS TYPICAL
ON BOTH SIDES OF FAN TRAY.
BEFORE SERVICING, PLEASE
UNPLUG OR DISCONNECT THE
FANTRAY FROM THE POWER
SUPPLY SOURCE.

A1 HAMMOND
ENCLOSURES

REV.B



